
Table 1: Twisted Alexander polynomials of the knot J−1.

ρ(x2) ρ(x10) ρ(x19) ρ(x22) ρ(x30) ∆N
J−1,ρ

∆D
J−1,ρ[

0 6
1 0

] [
0 6
1 0

] [
0 6
1 0

] [
0 6
1 0

] [
0 6
1 0

]
t8 + 2t4 + 1 t2 + 1[

0 6
1 0

] [
2 6
5 5

] [
3 5
5 4

] [
1 4
3 6

] [
5 3
3 2

] 6t8 + 5t7 + t6 + t5 + 4t4

+t3 + t2 + 5t+ 6
t2 + 1[

0 6
1 0

] [
2 6
5 5

] [
4 6
3 3

] [
4 6
3 3

] [
0 1
6 0

]
4t4 + t2 + 4 t2 + 1[

0 6
1 0

] [
2 6
5 5

] [
5 3
3 2

] [
0 5
4 0

] [
3 5
5 4

] 6t8 + 2t7 + t6 + 6t5 + 4t4

+6t3 + t2 + 2t+ 6
t2 + 1

[
4 0
0 2

] [
4 0
0 2

] [
1 3
6 5

] [
0 6
1 6

] [
4 0
3 2

] t8 + t7 + 5t6 + 6t5 + 3t4

+6t3 + 5t2 + t+ 1
t2 + t+ 1

[
4 0
0 2

] [
4 0
0 2

] [
2 6
0 4

] [
1 3
6 5

] [
2 0
3 4

] t8 + 4t7 + 3t6 + 2t5 + 5t4

+2t3 + 3t2 + 4t+ 1
t2 + t+ 1

[
4 0
0 2

] [
4 0
0 2

] [
4 0
0 2

] [
4 0
0 2

] [
4 0
0 2

] t8 + 6t7 + 4t6 + 5t5 + 5t3

+4t2 + 6t+ 1
t2 + t+ 1

[
4 0
0 2

] [
4 3
0 2

] [
2 0
5 4

] [
0 1
6 6

] [
2 0
1 4

] t8 + 5t7 + t6 + 5t5 + 4t4

+5t3 + t2 + 5t+ 1
t2 + t+ 1[

4 0
0 2

] [
4 3
0 2

] [
2 4
0 4

] [
4 0
0 2

] [
5 3
6 1

]
0 t2 + t+ 1[

4 0
0 2

] [
5 2
2 1

] [
3 5
3 3

] [
6 4
5 0

] [
4 0
4 2

] 4t8 + 6t7 + 4t6 + 6t5 + 2t4

+6t3 + 4t2 + 6t+ 4
t2 + t+ 1[

4 0
0 2

] [
5 2
2 1

] [
4 0
0 2

] [
5 1
4 1

] [
5 4
1 1

]
2t4 + 4t3 + 6t2 + 4t+ 2 t2 + t+ 1[

4 0
0 2

] [
5 2
2 1

] [
5 1
4 1

] [
5 1
4 1

] [
4 0
0 2

]
2t8 + 4t6 + 6t4 + 4t2 + 2 t2 + t+ 1[

4 0
0 2

] [
5 2
2 1

] [
5 2
2 1

] [
5 1
4 1

] [
5 2
2 1

] 4t8 + 4t6 + t5 + 2t4 + t3

+4t2 + 4
t2 + t+ 1

[
4 0
0 2

] [
6 6
1 0

] [
2 0
0 4

] [
0 5
4 6

] [
4 0
1 2

] 2t8 + t7 + 6t6 + 4t5 + 3t4

+4t3 + 6t2 + t+ 2
t2 + t+ 1[

4 0
0 2

] [
6 6
1 0

] [
4 3
0 2

] [
2 3
0 4

] [
5 6
3 1

]
t8 + 2t6 + 3t4 + 2t2 + 1 t2 + t+ 1[

4 0
0 2

] [
6 6
1 0

] [
4 5
0 2

] [
4 3
0 2

] [
6 2
3 0

] 4t8 + t7 + 6t6 + 3t5 + 4t4

+3t3 + 6t2 + t+ 4
t2 + t+ 1

[
4 0
0 2

] [
6 6
1 0

] [
5 5
5 1

] [
3 3
5 3

] [
4 0
4 2

] 2t8 + 6t7 + 4t6 + t4 + 4t2

+6t+ 2
t2 + t+ 1

[
0 4
5 5

] [
0 4
5 5

] [
4 2
5 1

] [
5 4
5 0

] [
6 4
0 6

] t8 + 6t7 + 3t6 + 2t5 + t4

+2t3 + 3t2 + 6t+ 1
t2 + 2t+ 1[

0 4
5 5

] [
3 2
6 2

] [
4 2
5 1

] [
0 1
6 5

] [
0 1
6 5

]
t4 + 4t3 + 6t2 + 4t+ 1 t2 + 2t+ 1[

0 4
5 5

] [
4 2
5 1

] [
0 1
6 5

] [
5 4
5 0

] [
6 1
0 6

]
4t8 + 5t6 + 3t4 + 5t2 + 4 t2 + 2t+ 1[

0 4
5 5

] [
4 2
5 1

] [
6 2
0 6

] [
2 4
3 3

] [
6 4
0 6

]
4t4 + 2t3 + 3t2 + 2t+ 4 t2 + 2t+ 1[

0 4
5 5

] [
6 0
5 6

] [
1 4
6 4

] [
4 4
6 1

] [
6 1
0 6

] 4t8 + t7 + 4t6 + t5 + 2t4

+t3 + 4t2 + t+ 4
t2 + 2t+ 1
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ρ(x2) ρ(x10) ρ(x19) ρ(x22) ρ(x30) ∆N
J−1,ρ

∆D
J−1,ρ

(continued from previous page)[
0 4
5 5

] [
6 2
0 6

] [
0 2
3 5

] [
2 2
6 3

] [
4 1
3 1

] 4t8 + 5t7 + 3t6 + 3t5 + 2t4

+3t3 + 3t2 + 5t+ 4
t2 + 2t+ 1[

0 4
5 5

] [
6 2
0 6

] [
6 1
0 6

] [
2 2
6 3

] [
5 2
3 0

]
t8 + 3t6 + 6t4 + 3t2 + 1 t2 + 2t+ 1[

6 0
0 6

] [
6 0
0 6

] [
6 0
0 6

] [
6 0
0 6

] [
6 0
0 6

] t8 + 5t7 + 2t6 + 4t5 + 6t4

+4t3 + 2t2 + 5t+ 1
t2 + 2t+ 1

[
0 6
1 4

] [
0 6
1 4

] [
0 6
1 4

] [
0 6
1 4

] [
0 6
1 4

] t8 + 4t7 + t6 + 5t5 + 5t3

+t2 + 4t+ 1
t2 + 3t+ 1[

0 6
1 4

] [
0 6
1 4

] [
5 6
6 6

] [
4 6
1 0

] [
1 6
5 3

]
t8 + 2t4 + 1 t2 + 3t+ 1[

0 6
1 4

] [
1 3
3 3

] [
3 1
2 1

] [
0 2
3 4

] [
6 3
5 5

] 2t8 + t7 + 4t6 + t4 + 4t2

+t+ 2
t2 + 3t+ 1[

0 6
1 4

] [
1 5
6 3

] [
4 4
5 0

] [
1 2
1 3

] [
4 3
2 0

]
6t6 + 4t4 + t3 + 4t2 + 6 t2 + 3t+ 1[

0 6
1 4

] [
2 4
6 2

] [
1 6
5 3

] [
1 3
3 3

] [
6 4
2 5

] 2t8 + 2t7 + 3t6 + 5t5 + 6t4

+5t3 + 3t2 + 2t+ 2
t2 + 3t+ 1

[
0 6
1 4

] [
5 6
6 6

] [
1 5
6 3

] [
0 4
5 4

] [
4 4
5 0

] t8 + 3t7 + 6t6 + 6t5 + 4t4

+6t3 + 6t2 + 3t+ 1
t2 + 3t+ 1

[
0 6
1 3

] [
0 6
1 3

] [
0 6
1 3

] [
0 6
1 3

] [
0 6
1 3

] t8 + 3t7 + t6 + 2t5 + 2t3

+t2 + 3t+ 1
t2 + 4t+ 1[

0 6
1 3

] [
0 6
1 3

] [
2 1
1 1

] [
2 5
3 1

] [
5 1
3 5

]
t8 + 2t4 + 1 t2 + 4t+ 1[

0 6
1 3

] [
1 2
4 2

] [
1 1
1 2

] [
6 6
5 4

] [
1 4
2 2

]
t6 + 3t4 + t3 + 3t2 + 1 t2 + 4t+ 1[

0 6
1 3

] [
2 1
1 1

] [
1 3
5 2

] [
3 5
4 0

] [
5 4
6 5

] t8 + 4t7 + 6t6 + t5 + 4t4

+t3 + 6t2 + 4t+ 1
t2 + 4t+ 1

[
0 6
1 3

] [
2 4
2 1

] [
0 5
4 3

] [
1 4
2 2

] [
1 2
4 2

] 2t8 + 6t7 + 4t6 + t4 + 4t2

+6t+ 2
t2 + 4t+ 1

[
0 6
1 3

] [
5 1
3 5

] [
6 2
1 4

] [
4 6
5 6

] [
3 3
2 0

] 2t8 + 5t7 + 3t6 + 2t5 + 6t4

+2t3 + 3t2 + 5t+ 2
t2 + 4t+ 1

[
0 4
5 2

] [
0 4
5 2

] [
0 4
5 2

] [
0 4
5 2

] [
0 4
5 2

] t8 + 2t7 + 2t6 + 3t5 + 6t4

+3t3 + 2t2 + 2t+ 1
t2 + 5t+ 1

[
0 4
5 2

] [
0 4
5 2

] [
1 0
3 1

] [
1 2
0 1

] [
2 2
3 0

] t8 + t7 + 3t6 + 5t5 + t4

+5t3 + 3t2 + t+ 1
t2 + 5t+ 1[

0 4
5 2

] [
1 0
3 1

] [
0 2
3 2

] [
1 2
0 1

] [
3 4
6 6

]
4t8 + 5t6 + 3t4 + 5t2 + 4 t2 + 5t+ 1[

0 4
5 2

] [
1 0
3 1

] [
5 1
5 4

] [
1 0
6 1

] [
2 2
3 0

]
4t4 + 5t3 + 3t2 + 5t+ 4 t2 + 5t+ 1[

0 4
5 2

] [
3 1
3 6

] [
2 1
6 0

] [
4 4
3 5

] [
3 4
6 6

] 4t8 + 6t7 + 4t6 + 6t5 + 2t4

+6t3 + 4t2 + 6t+ 4
t2 + 5t+ 1[

0 4
5 2

] [
4 2
6 5

] [
1 0
3 1

] [
0 2
3 2

] [
0 2
3 2

]
t4 + 3t3 + 6t2 + 3t+ 1 t2 + 5t+ 1[

0 4
5 2

] [
5 1
5 4

] [
3 4
6 6

] [
1 1
0 1

] [
6 2
5 3

]
t8 + 3t6 + 6t4 + 3t2 + 1 t2 + 5t+ 1
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ρ(x2) ρ(x10) ρ(x19) ρ(x22) ρ(x30) ∆N
J−1,ρ

∆D
J−1,ρ

(continued from previous page)[
0 4
5 2

] [
5 1
5 4

] [
5 4
3 4

] [
1 1
0 1

] [
1 4
0 1

] 4t8 + 2t7 + 3t6 + 4t5 + 2t4

+4t3 + 3t2 + 2t+ 4
t2 + 5t+ 1

[
5 0
0 3

] [
0 6
1 1

] [
3 0
0 5

] [
1 3
2 0

] [
5 6
0 3

] 2t8 + 6t7 + 6t6 + 3t5 + 3t4

+3t3 + 6t2 + 6t+ 2
t2 + 6t+ 1

[
5 0
0 3

] [
0 6
1 1

] [
5 0
2 3

] [
5 0
4 3

] [
0 4
5 1

] 4t8 + 6t7 + 6t6 + 4t5 + 4t4

+4t3 + 6t2 + 6t+ 4
t2 + 6t+ 1[

5 0
0 3

] [
0 6
1 1

] [
5 0
4 3

] [
3 0
4 5

] [
6 4
1 2

]
t8 + 2t6 + 3t4 + 2t2 + 1 t2 + 6t+ 1[

5 0
0 3

] [
0 6
1 1

] [
6 2
2 2

] [
4 2
4 4

] [
5 3
0 3

] 2t8 + t7 + 4t6 + t4 + 4t2

+t+ 2
t2 + 6t+ 1

[
5 0
0 3

] [
5 0
0 3

] [
2 1
4 6

] [
1 6
1 0

] [
5 4
0 3

] t8 + 6t7 + 5t6 + t5 + 3t4

+t3 + 5t2 + 6t+ 1
t2 + 6t+ 1

[
5 0
0 3

] [
5 0
0 3

] [
3 0
2 5

] [
2 4
1 6

] [
3 2
0 5

] t8 + 3t7 + 3t6 + 5t5 + 5t4

+5t3 + 3t2 + 3t+ 1
t2 + 6t+ 1

[
5 0
0 3

] [
5 0
0 3

] [
5 0
0 3

] [
5 0
0 3

] [
5 0
0 3

] t8 + t7 + 4t6 + 2t5 + 2t3

+4t2 + t+ 1
t2 + 6t+ 1[

5 0
0 3

] [
5 0
1 3

] [
3 0
6 5

] [
5 0
0 3

] [
6 4
1 2

]
0 t2 + 6t+ 1[

5 0
0 3

] [
5 0
1 3

] [
3 1
0 5

] [
1 4
5 0

] [
3 3
0 5

] t8 + 2t7 + t6 + 2t5 + 4t4

+2t3 + t2 + 2t+ 1
t2 + 6t+ 1

[
5 0
0 3

] [
6 5
5 2

] [
4 4
2 4

] [
0 2
3 1

] [
5 3
0 3

] 4t8 + t7 + 4t6 + t5 + 2t4

+t3 + 4t2 + t+ 4
t2 + 6t+ 1[

5 0
0 3

] [
6 5
5 2

] [
5 0
0 3

] [
6 3
6 2

] [
6 6
3 2

]
2t4 + 3t3 + 6t2 + 3t+ 2 t2 + 6t+ 1[

5 0
0 3

] [
6 5
5 2

] [
6 3
6 2

] [
6 3
6 2

] [
5 0
0 3

]
2t8 + 4t6 + 6t4 + 4t2 + 2 t2 + 6t+ 1[

5 0
0 3

] [
6 5
5 2

] [
6 5
5 2

] [
6 3
6 2

] [
6 5
5 2

] 4t8 + 4t6 + 6t5 + 2t4 + 6t3

+4t2 + 4
t2 + 6t+ 1


